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QUESTION 1
What two aspects of an existing requirements management approach need to be extended when adopting SOA?

A. Requirements need to be assessed against the enterprise business model and not just the immediate project\\'s
scope.

B. Need to encompass requirements from operational staff to manage deployed Services as well as the business
C. Requirements need to expressed in terms of a Service contract, implementation, and interface.
D. All requirements are captured regardless of whether Services will be built from them.

Correct Answer: AC

QUESTION 2

Which of the following statements are true for service-oriented integration versus traditional Integration approaches,
such as Enterprise Application Integration (EAI)?

A. Service-oriented integration uses Web Services to create standards-based, point-to-point integrations between
applications.

B. Service-oriented integration is a type of Enterprise Application Integration (EAI) that uses Web Services as the
communication technology.

C. Service-oriented integration differs from Enterprise Application Integration (EAI) because it includes Services that
have distinct deployment and lifecycle separate from the applications.

D. Service-oriented integration differs from traditional integration because an Enterprise Service Bus (ESB) is used
instead of Java Messaging Service (JMS).

E. Service-oriented integration differs from traditional integration because adapters are no longer needed since the
applications are Web Services enabled.

Correct Answer: A

QUESTION 3

It has come to your notice that your organization is suffering from service sprawl whereby, duplicate services exist in
production. After some Investigation you have come to the conclusion that your existing SOA Services are not classified
and therefore, making Service Discovery challenging. Which initial classification scheme should you utilize to classify
your SOA Services?

A. Organizational Model

B. Technology Vendor

C. Business Functional Model

D. Reference Architecture Service Layer
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E. Reference Architecture Capability

Correct Answer: A

QUESTION 4

After executing your SOA initiative for a year and deploying four SOA projects In production, It has come to your
attention that Services in production are only being consumed by the original Service producers. What course of action
do you take to address your challenge?

A. Implement a service consumption review process whereby solutions are monitored for appropriate Service reuse

B. Change the current waterfall software development approach to an agile approach to increase service consumption
C. Make all Services generic so that they are applicable to all current and future projects

D. Perform service harvesting on the four completed solutions

E. Communicate to your project teams to consume more Services

Correct Answer: A

QUESTION 5
Which statement describes the purpose of a Service portfolio?

A. A Service portfolio provides a single location for storing Service meta-data, software relationships, and metrics in
order to apply governance policies and systemetise reuse.

B. A Service portfolio provides a singlesoftware library from which artifacts can be deployed and versioned.

C. A Service portfolio provides a runtime view of the Services so that the right Service may be looked up and consumed
in an environment.

D. A Service portfolio contains all the software artifacts that will be developed by a project so that project managers can
track their lifecycle through the project.

Correct Answer: D
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